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following and fill in the blanks accordingly.

S =

% + A
k+a

9+ ...
gh +...

..l+ a
ese + a

q +...

n +...

T+
d+ a

oot H
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O..+ m
.l.+ a

..'+ 3T

et @l

o =

g+ A
kh + a

|
o + Q

..0+ 3T
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...+ a
ot Q

T +...
dh +...

q +...
th +...

T +...
n +...

T+
b +...
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The consonant is pronounced with a vowel., Please look at the

T+ A
g+a

I+ A
c+ a

"€ +...
jh +...

a+ H
th + a

N . |
...+ a

L+ H
d+a

o+ H
wha

"{+~3T
bh + a
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Separate the vowel from the consonant and then rewrite the
letters. |

frwrm Tuf-AETY

®R+A) F F F &F F ®F ®

%
9
T
q
3
q
)
|
9
Fq
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WITAUTAT AT

3 U ¥ WHHAT &1 AraaE ¥ fafa

These letters (varnas) look alike. Please rewrite them carefully,

q— 9 T — o qT—A
T—¢ T—q qH—9q
T—7 T —< T— 9

ToaR fa@=g1 uter 9w faf@u) Please write five times.
(®)

R)
()
(¥)
(W
(®)
(\9)
(¢)
)

o | |a| |d] 2] [« [21] [2] [
|
o (8] [H] (B [« (8] (] |4 |5
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Please look at these compound letters carefully, though

compound, these are independent letters. Practice the
way they are written.

TqT—

1. A+T=9 &

2. q+1=1 ¥

3. (+d=9 |4

qYT—
g | &b
7 | B
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Hw+A=wka) T =R+ IA+H+A+Hq+ ¥ + 7
H+am=m(kd) HHF =FHR+ AT+ FH+ *
mt+s=faki MfFM==R+3+IT+HR+3+q+7%
F+I=ANK) wFRM =KR+I+I+F+U+ 3
H+3=xky F =F+I+ Y+ W+ I+
w+F=Fkd) FF =H+I+{+H+ &
wtHE=FKkr) FR =HF+EF+{+ A+ H+
Rt H=xkp) R =Y+3+q+F+q+am+7q
R+u=w(ke) @HW =H+T+ Y+ &

®+ V=% (kai) daE =H+ Y+ + T+ I+ q+ &
®+ M= (ko) FrTE: =T+ + [+ M+ I+ w+ @
® + 3N = 3 (kau) R =R+ N+ q+ 3+ H+ ar

# + =% (kan) = =+ 3 + q +

: |+ M= (kah) =: =& + 3
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AT

e US| £ | Uf¥W) Please read carefully.
SN S L O U T TR SENE DR SN
s ® B T 3 F o3 3 3 @ A

t

(@) (T (T (T (RIF) RpH) @AB) @D @AY (wh) ()
a@ﬁi@fgqqaﬁﬁa‘r@
(G (GH3) (TH) (FH3) (TF9) (GHR) (@4%) (@Y (TH) (vq+a?f) (g+3h)

MI"{{TWI Please fill up. f
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Please disjoin the letters as shown in the example.
91 — |

1. WEH: = T+ M+ + T+ T+ 3%
2. AEH: =

3. dlcleh:

4, W =

5 W& =

6. &

7. 9 =

8. WRY =

9. HTIRH

10. fifk:

1. &m:

12, §8g: = L
13. F9h: =

14, 9O =

15, am:

16. Wewmr =

p—
~3

NN
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17. WSAH =

18. WMET =

19. WM =

20. @Y =

21, W =

2. WIEA: =

23. T[T

24, YW =

25. WA, =

ALY

ygEa: ai faren ST ey gEg)
ye-gelt A Ug T ISEUITER g i)

Please fill up the following by selecting Padas (words)
from the Pada-siici (Index).

'q‘qT -—
T Mgeh: = || wewm | | HTeTeh:
f
b
J
I
I
[
S
y
Y
T L




fift  wg W ey wmo deg
Y afe: L CE g : e
qory ot 3IgW Mram: N HUGHT:
e I gt - R Se: gwg
WRY: o ¥ qugEd gy
3T qq: I <t u: HRs:
fue TS qq: TR_I: U NI
Now: ¥Jwag  Swy Jeq FEE: oW
FHUT: B quY:  Hac:  HERY wW
o T S GIE T Y

g
[ X )

ST U] | & W ufeu| Please read carefully.
Y+ oY = WIFAqur:

81 = h + h = Fh + 3 =FF — [FR:
Y+ H=Th+ A= — &
aqar foag) o 9r fafaw)
Please write four times.
1.—+ <
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h+Dh=d%h — HFH: QIR fhFhS: hadpd: hIhS:

g+FH=F - AP

I+H=F - U=

I+F=T - &

A+ F=TF - FT@K

(+F=aF - &

qA+F=Th - Y

T+ H=TF - YR

+F=T - @&
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2. — + W@
w+ =g
g+E=§
q+E=""
q+E@=
3. —+T

T+ T=TT
€+T=¥%

g+ =81
T+ =G
(+n="1

q+T=721
4, — + ¥

EoEH= g
SHR=TH
(+9=4

5. —+
J+9=<"
A+T="H
(+ 9=9

Y+9=w
6.—+ T
q+B=<F
A+BT=
(+8=%

7. —+ 9
+ 5 =37
A+ 9 =3
«+a=g3
U+ T =3
(+9 =+

1]

]

Ny




ot drer - Fofaren

8. —+ W
q+F=
A+ =F
(+9=7¢
9. —+ A
L+ oA ==
(+9=9
10. — + ¢
T+T=%
N+T=T¢
(+T==
Y +IT=w
M1.—-+4+79
I+3=73
N+3I=T3
(+3=W"
12. — +
T+3=7
N+T=T%
13. -+ T
T+3T=3%
N+T=1%
14. — + o7
O+ O = oy
1+ o = of
T+ o = W
15, — + @
#+d=od
q+d=1
A+d="

19% 137 13 39 114 #a34 11 34

21
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q+d=q
(+d=+d
q+a=4
16. — + &
q+9="79
A+ 9="9
(+9=9
q+9=4
17.— + T
q+T=%
A+3==
q+3==
{+3=¢
18. — + &
T+9=79
T+9=%
1+ 9="94
T+ U=
(+9=¢
19. — + 9
F+T=2H
g+ =%
q+3=9
T+ =5
A+79=7
(+7=19
A+d=9
1+ 7 =of
q+9=9
E+7=%

FeTT
T’QFI"{
aref:

1]
] ]
] ]

|

1]

]




WormT LT - FofHIE
20. -+ 1T
et ol
q+ =70
+9=1
H+9=m
(+9=9
qA+I=
q+U=9
{+U=%
2. — + %
q+F=7F
A+ ®=7%
A+ HE="h
q+F=%F
22, — + &
SFHE= &
A+d="
(+9=4d
23. —+ ¥
T+9=79
T+9I=%
q+9=3
H+9=179
(+9=9
q+9=oA
24. —+ W
H+A=
I+ H="H
S+ A=K
q+d=

23
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oA

q+7="
el
Qb W=
Yoo W=
(+A=H

q+A=7H
q+a=
{+ A=W
q+9=W
g+A=d
25. — + &
w+I=H
g+I==A
T+9="9
g+ 3=
I+q=<
(+¥=w
RA=TH
itI=77
&tA=¢F
T+a=4
N+I=1g
t+ta3=w
{+a3=9
StaT=7

1+3=9
1+3==
(+3=1u9
{i+3=

EEFEFEEFFRENE R LR RV ER
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27. — + ™
H+ A=
q+d="d
A+d=d
q+d=3d
TR+U=F%

28. — 4+ 9T
H+a=79
S+d=W
q+9=a
T+d=%

g+d=13
q+d9==9
q+d9=u
(+9=d

q+d=19
A+d="19
Y +a9=1%
q+d9=w
B+d=%§

29. — + 7T
(+9=19

30. —+ ¥
H+T=g
Lt¥=0
(+9=1

3. — + 9
R+A=79
A+9=79
+9=1
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+9=W - qH
32. -+ ¥
(+8=¢% - wfe
q+s=w® - fa=m

HHEH:
ITRfAfE: TTRS: Ty U VI Aaiigshiur e faa=g|
Iafiifafaa sl ¥ ¥ T T v ety e | e fafaa)
Write down the words one by one in alphabetical order
taking it from the above.

e e Lk e E 2 Lt
H ST q T, ! LR
S| E] |

3 K| q

3 El 3

3 q o

E] D q

% 5 w

T g L

T q q

an q ¥

M T &

% q El

kG| B

-

4>
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Disjoin the letters as shown in the example.

"’A’AJAJ&NNNK&NNN
XP PR ARG 2RI

~
2

PTG @ o Wi

qfrea:

TE:
GLIE )
{&h:

FEEE

Il

(‘{+3?+V[+3\+3+?[+ 3:)
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